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I 1 2 3 4 5 6 7 8 9 D

[N

0.81) 0.09| 0.0302| 0.0403| 0.0115] 0.009] 0.003| 0.003 0 0

0.015] 0.73] 0.1585| 0.0349| 0.0311| 0.0177 0.0104{ 0.002 0 0

0.043| 0.667| 0.1816, 0.0774| 0.014] 0.0092 0| 0.004| 0.004

0.006| 0.0386] 0.727| 0.1284| 0.0684| 0.0205] 0.007| 0.002| 0.001

0] 0.0028] 0.0646} - 0.733{0:1317| 0.0479] 0.011] 0.006] 0.002

3E-04| 0.0003) 0:013} 0.106] .0.705| 0.1212] 0.036] 0.011] 0.007

0] 0.0009| 0.0091 0.0418f0.1657 0.593| 0.126( 0.038| 0.025

0 0] 00054} '0.018110.0685| 0.1283| 0.61] 0.133| 0.039

© (00| N |01 |b~|w(iN
=l =R E=N =l i1 E=1 k=]

0.002 0] 0.0069| 0.0131| 0.0627| 0.1023| 0.108| 0.66| 0.086
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B ~ F RIS
Blq 2 3 4 5 6 7 8 9 D

o

0.81] 0.903| 0.9333] 0.9735] 0.985] 0.994] 0.997 1 1 1

0.017] 0.741 0.9 0.9349] 0.966| 0.9836/ 0.994| 0.996| 0.996, 0.996

0.043| 0.7102] 0.8918| 0.9692| 0.9832] 0.9923| 0.992| 0.996 1

0.006| 0.0447) 0.772] 0.9004| 0.9688 0.9893| 0.996| 0.999 1

0] 0.0028 0.0674| 0.8007| 0.9324| 0.9804| 0.991| 0.997| 0.999

3E-04| 0.0007| 0.0136 0.1196] 0.8244| 0.9456| 0.982 0.993] 0.999

0] 0.0009 0.01) 0.0518 0.2175| 0.8109| 0.937| 0.975 1

0 0] 0.0054| 0.0235] 0.092| 0.2203] 0.826| 0.959| 0.998

O || NOO|O | B |W|IN |-
=l =R il =l E=NK=]

0.002| 0.0015| 0.0085 0.0216| 0.0843| 0.1866| 0.295| 0.957| 1.043
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- & EHINE

SR 1 2 4 5 6 7 8 9 D
[00,-0.88] | [-0.88,-1.3] [-1.5,-1.93]|[-1.93,-2.17]|[-2.17,-2.51]|[-2.51,-2.75] |[-2.75,-3.72] | [-3.72,-3.72] | [-3.72,- Q0]
[00,2.116] | [2.116 ,-0.6] [-1.28,-1.51]|[-1.51,-1.82]|[-1.82,-2.13]|[-2.13,-2.51]|[-2.51,-2.64] | [-2.64,-2.64] | [-2.64, - OO ]
[00,3.719] | [3.719,1.714] [-0.55,-1.24]|[-1.24,-1.87]|[-1.87,-2.12]|[-2.12 ,-2.43]|[-2.43,-2.43]| [-2.43,-2.67]| [-2.67,-0O0]
[00,3.719] | [3.719, 2.51] [1.698,-0.75]|[-0.75,-1.28] |[-1.28,-1.86]| [-1.86, -2.3] | [-2.3,-2.69] |[-2.69,-3.04]| [-3.04, - OO ]
[00,3.719] |[3.719, 3.719] [2.77,1.496] |[1.496,-0.84]|[-0.84,-1.49]| [-1.49,-2.06] | [-2.06,-2.38] | [-2.38,-2.75] | [-2.75, - OO ]
[00,3.719] |[3.719,3.403] [3.21,2.21] | [2.21, 1.18] |[1.18,-0.93] | [-0.93,-1.60] |[-1.60 ,-2.09]| [-2.09,-2.43] | [-2.43, - 00 ]
[00,3.719] |[3.719, 3.719] [3.12,2.33]|[2.33,1.63] |[1.63, 0.78] {[0.78, -0.88] |[-0.88,-1.53] | [-1.53,-1.96] | [-1.96, - QO]
[00,3.719] | [3.719, 3.72] [3.72,2.55] | [2.55,1.99] |[1.99, 1.33] | [1.33,0.77] | [0.77,-0.94] | [-0.94,-1.74]| [-1.74,-00]
[00,3.719] | [3.719, 2.96] [2:959,2.39]{]2.39,2.022] {2.022,1.38]| [1.38,0.891] |[0.891, 0.54]| [0.54,-1.72] | [-1.72-00],
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EEEREY
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- 7 l%m}%
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FitE % 7'JT|‘» ﬁ:“

:5 o F o A @ % Augmented Dickey-Fullertg %% ( f§ #-ADF test) #-% #ic %
E% # % (Unit Root test) » 5% M ILE 452, { #- BBt LA Nt Mg d
' #2 K 7| (stationary time series) > £ {FOLS# 3+ o
O 1S R TR CHF|FNE9 AP F IR A > 370
MIB& 3 FenE 4 2t B v AZH F RS > » 3 a8 i
MmO A A L A RS ot f\-}_ FIBREE > N A S Pk
Ao 14 M- F RS B BT AE T R RMETA 0 o X
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% 9 EAREI-EEVCEIRKBLES
e Wi LA HELA R
" L PR A L FS R A
AR W L -1.358 -16.962%*
MIB £ 3} 3 -2.214 -9.860*
95%%g % -k & encritical value 5 -2.868
90%%g ¥ -k & encritical value 5 -2.5703
% 10 Probit % ~ i fF — SHITRINCL S8R %

#p THRE
PP TR 1970-1999 1970-2000 1970-2001 1970-2002 1970-2003 1970-2004
e -1.976* -2.077* -2.038* 2.041*  -2.053*  -1.932*
(t 563+ 8) (10.525)  (-11.118)  (-11.482)  (-11.727) (-11.833) (-11.442)
9 ¥ GDP & -0.005 -0.006 -0.007 -0.007 -0.006 -0.005
£ F B (-0.6874)  (-0.842)  (-0.965)  (-0.963)  (-0.932)  (-0.694)
FLipRiFe -0.004* -0.003* -0.004* -0.004*  -0.004*  -0.005*
EPE. S - (-2.7342)  (+2.1785)  (-2485)  (-2.528)  (-2.50)  (-3.32)
U T 1.469* 1.501% 1.429* 1.368* 1.419* 1.501%*
EF " (2.594) (2.684) (2.630) (2.587) (2.70) (2.923)
e W dp B E A -0.0005* =1 -0.0006* ___-0.0006%  -0.0006* -0.0006*  -0.0005*
F - (-3.177)  7.(-3.667) (-39D (-3.855)  (-3.684)  (-3.16)
I S-Eak £ 0 -0.004* -0.005% -0.005* -0.005*  -0.005*  -0.004*
b EE (-5.933)  (-6.482)  (-6.683)  (-6.764)  (-6.489)  (-6.114)
MIB EHF  — -0.0008 -0.0008 -0.0009 -0.0009  -0.0008  -0.0008
(-0.552)  (-0.583)  (-0.630)  (-0.644)  (-0.628)  (-0.5935)
R-square 23.84% 24.02% 26.37% 26.32%  24.89%  24.64%
AIC -1.249 -1.239 -1.267 -1.297 -1.301 -1.305
F-stat 18.30 19.12 22.38 23.03 22.03 22.40
Durbin Watson Stat ~ 0.336 0.329 0.329 0.326 0.319 0.312
ARCH LM test
Eatat 206.14*  179.19*  186.74*  204.76*  230.78*  265.91*
[0.000] [0.000] [0.000] [0.000]  [0.000]  [0.000]
Obs*R-square 131.15*  121.06*  125.76*  135.07*  147.47*  162.84*
[0.000] [0.000] [0.000] [0.000]  [0.000]  [0.000]

R A Ata e T o ER|S% B F R (Sl it R )P Bt

312 @ F-statPRjEF 4 fie » Obs*R-squarePRjs+ = & fie ;¢ F25p0 [ -
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% 11 AR(1)-GARCH(1,1)— 388 5p P12 ¥ - 2 %
¥ F THHE
1970-1999 1970-2000 1970-2001 1970-2002  1970-2003 1970-2004
B L3R F
£3E ﬂo -2.403* -2.375* -2.408* -2.454* -2.451* -2.488*
(z %3+ 8) (-11.871)  (-11.906)  (-12.334)  (-12.589)  (-12.734)  (-13.059)
7 ¥ GDP = -0.004* -0.004* -0.004* -0.004* -0.004* -0.003*
£ F - (2.279)  (-2.195)  (-2.044)  (-1.949) (-2.290)  (-2.182)
4F i#ﬁ Hhixe -0.002 -0.002 -0.002 -0.001 -0.002 -0.001
thik - (-0.996)  (-1.16) (-0.988)  (-0.817) (-0.973)  (-0.916)
Ao aLE~ N -0.01 -0.099 -0.063 -0.083 -0.093 -0.06
B (-0.590)  (-0.594)  (-0.396)  (-0.546) (-0.631)  (-0.431)
e ’Jkifﬁ k& -2.95E-05 -3.53E-05 -4.07E-05 -6.71E-05 -5.96E-05  -5.7E-05
% - (-0.243)  (-0297)  (-0.348)  (-0.578) (-0.531)  (-0.529)
W E -l ] #F‘ 0 -0.002* -0.002* -0.002* -0.002* -0.002* -0.002*
ﬁtz H* (-3.203)  (3.162)  (-3.537)  (-3.435) (-3.703)  (-4.298)
MIB EH % — 0.0007*  0.0007* 0.0007* 0.0006* 0.0007* 0.0007*
(1.916)  (1.897) (2:02) (1.797) (2.031) (2.153)
4 0 0.965* 0.967* 0:966* 0.965* 0.967* 0.969*
1 © O (55.279) =(58:261)  (60.488) - (61.085) (63.166)  (67.784)
Variance Equation
2550 2.4E-04* 236E-04* 221E-04* 2.11E-04* 1.92E-04*  1.5E-04*
(3.66) (3.984) (4.002) (3.965) (3.924) (3.755)
0.562* 0.546* 0.540* 0.517* 0.514* 0.511*
% (5.826)  (5.994) (6.134) (6.209) (6.405) (6.663)
0.521* 0.528* 0.533* 0.546* 0.550* 0.566*
h (9.621)  (9.846)  (10.203)  (10.670) (11.136)  (11.987)
R-square 80.59% 81.37% 81.97% 81.91% 81.95% 82.28%
AIC -3.05 -3.11 -3.14 -3.175 -3.22 -3.27
F-stat 143.65 156.33 168.25 173.02 178.90 188.57
Durbin Watson Stat ~ 2.88 2.88 2.88 2.88 2.88 2.87
ARCH LM test
Eostat 0.0045 0.002 0.0041 0.0164 0.0258 0.0314
[0.947]  [0.964] [0.949] [0.898] [0.872] [0.859]
Obs*R-square 0.0045 0.002 0.0041 0.0164 0.0259 0.0315
[0.946]  [0.964] [0.949] [0.898] [0.872] [0.859]
LR A AZAe e o EP|5% R F R R BRI RN (- )5 2

312 @ F-statPRjEF 4 fie > Obs*R-squarePRjE+ = & fie ;@ 3550 [« |5 p-value
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% VIF>10p% > 477 X 80 £ H i fRMILE & o 5av 4 g X AU IF I Pg

Fod 2132 T BEET o —’E—'VIF#%%%%"*IO P G AR R AR &R
B TR p RHAP M RBCE 2 VIFR T8 %

12 f REEAPY AlEs

98 1 RE GDP 4kizih Ao WiHE&k  CPI M1B
LRt
FEF el EAmF EHF  EHF  EHF

TEv 1
4 ¥ GDP

0.05563 1
+E %
A A3t

-0.38753  -0.0626 1
%bﬁ&
FoBR
y 0.200073  -0.0558 -0.18 1
iAimF
U 3
) -0.31928  -0.0006  0.69069 " 20:2004 1
CPI #£3# %] -0.29603  -0.2308 = 0.130937 - 0.02563.  -0.0794 1
M1B & 3
N -0.01065  0.14782 = -0.0714° " -0.0262% -0.0152 -0.1321 1
*

2 I3RBHEUET IR TLE

RE L VIF &
¥ % GDP = & 1.076544
CRSERR KRR S 2.059196
Ao E AR 1.051526
U ERE S 2.044241
T ROk ECE S 1.140295
MIB # 3 & 1.037388
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L& v FApRIE
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B o214k Bt & > AAE T Y s vE T & ;%f 5 2002 # 54 ~
WTO -~ 2003 & *F 5 SARS & #% » & {7 Wéf“ BASTHESNE F LY A EF ¥ 0P
F R @ FAE S B 12003F K A brprdFaE o gt b o d B o AP 3R GARCH(1,1)
B4 > WOLSHA TRt M eni@ Bt K 0 £ F iR o d > L REP AT A FR

s E"I’»'fﬁti‘].;—?'ﬁ TER R 4 0 XLt R R FRES A T o

GARCH #: OLS #:3]-7¢

GARCH 3= OLS #7337
i Bl BwIL & A TFREY P ET

_’,:p@ 41;\{;3‘3% f_'.}g_,g_’i
i]i((y) " o N (%) w9k ki RFARE A
570 ( 0) i—ﬁl— AL (%) v (%)

2000 = 0.98330 0.59844 0.89416 0.09968 -0.33072
2001 = 0.95817 0.75662 0.86860 0.10311 -0.12891
2002 = 0.81062 0.71635 0.6125 0.32347 0.16956
2003 = 0.54157 0.65668 0.47 0.15229 0.39720
2004 = 0.41918 0.60548 0.38833 0.07944 0.55918
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-1.507 5 IR T O* 4R ke 2 7 20018 120045 0f % pEIRA AR o

B 159 7 LA D] 2000 PI20024 0 B R B Of B AR F Ak
FfcHE o @ 20038 FI20048 (nfp ¢ ETRAp R f R > S AR F R ROTHRY -
BI2P fdy 3980t S 2% g thenbl 0o B2 F 5 ot s X TP BEenf o B
o BEARE BILA - R o

4152 ERAEG

Y @' (RP) RP, Hot e, Oyt (mm) ZE
2000 = -2.33266 0.98330 -2.5457 0.1413 -1.507781
2001 = -2.34233 0.95817 -2.5400 0.1425 -1.386375
2002 = -2.40409 0.81062 -2.5349 0.1430 -0.914579
2003 = -2.63622 0.54157 -2.5344 0.14097 0.097003
2004 = -2.63622 0.41918 -2.5366 0.13957 0.713461

. 9E F g TR RARE
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;; 1.25
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05 ——y | S
0.25 »
0
-0.25 —®— GARCH#g i3 &
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Bl 13 i9F S Eokdnthentd

5-1-4 24y R ¥R H e

EEFAREBERF L5 AP AERLGAREEy c FRBAREY ZFS
PHEL R EERHMBER G RM G AT 2 BB £85I FAR(TCRI 1 4%)
o34 5 (TCRISE 9)Ad £F » A By, ~ y N A fEE B A S hh "G AR Hlice 57
LR g B AE AP aE ¥ Kim(1999) 97kt 31 &k ehy,=0.03% » =0.5 » # # 1% F gt
BB SRPEE S ZE R R GACR Rl r B o5 T E 28 912000-2004

49



ELTERA ST F R R R Bk TR B -

Bt T UAFER R FRRTOBERIELEE LN WP FF RS
W PR P e do 162 217407 > 2002# B § Aot feigh (2=-0.9145) > hFad s

20 MPFLAREBOW ST D 889% T ME 266.5% 0 M HE L F B ABLEBESE T b
d2A AP FF AFAF L REBWI TSR A e d B a20% P E &35

FEPFL & b 4o (5.56%319.12%) 0 v ix E R F 2 G BB IR E R e

%16 2002 & & rUH|IE ¢ el 5o e st

R L - Eich¥

$£5 1 2 3 4 5 6 7 8 9 D
1 1 0 0 0 0 0 0 0 0 0
2 | 0.0556 | 0.889 |0.0556 0 0 0 0 0 0 0
3 0 0.1 0767 0.1 0.0333 0 0 0 0 0
4 0 0 0.037 0.852 0.0833 0.0278 | 0 0 0 0
5 0 0 0 | 0.1039 0.78410.0996 0.013| 0 0 0
6 0 0 0 | 0:0049 [0.1244},0.737 0.1244/0.0073| 0 | 0.002
7 0 0 0 0 10.0061| 02805  0.598 |0.0915/0.0183] 0.006
8 0 0 0 0 4.-0.0104. 0.125 0.2083 0.5 |0.1458] 0.01
9 0 0 0 0 0 | 0.1014 0.2029/0.3623) 0.681 | 0.043

017 2002 # § U] iE 2 chil F kL (Z=-0.9145)

T - B RpUIGE

1 2 3 4 5 6 7 8 9 D
1 | 0.755 | 0.1127 [0.0392) 0.0544 0.0162) 0.0146 0.0042/0.0032] 0 |4E-05
2 | 0.0083 | 0.665 0.1912] 0.0453 0.0345| 0.0317 0.0169/0.0027| 0 | 0.005
3 | 3E-05 0.0238 |0.614 | 0.2164 0.0961 0.025 0.0152| 0 0.0056| 0.004
4 | 3B-05 | 0.0026 0.0222| 0.684 |0.1141| 0.1268 | 0.036 0.0109/0.0029  0.001
5 3E-05 0 |0.001 00385 | 0.61 | 0.2322 0.0884/0.0186/0.0082| 0.003
6 3E-05 | 7E-05 0.0001 0.0062 0.0114| 0.671 0.2174/0.06610.0182| 0.01
7 | 3B-05| 0 |0.0003] 0.0042 |-6GE-04| 0.0493 | 0.613 0.2238/0.0702| 0.04
8 3E05| O 0 | 0.0023 -0.001| 0.0101 0.0435 0.638 0.2397 0.068
9 | 3E-05  0.0005 0 | 0.0032 -0.003| 0.0086 0.03070.0536| 0.834 | 0.072
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X 4 18% £19 0 #2004# B F ST HH5E B (Z=0.71346) » A f & w2048 5 d 50%3%
A 5]77.6% > AL P 1 d 0% 2 2224% > BAE I3 F L d 50% % FTE T
1331% ARl enfim s B & S5t b od )t T ik BEF LHEF> o F

EEP A R

% 18 2004 £ & *LH] 65 2 ol & i He B L

B e - EpE

5 1 2 3 4 5 6 7 8 9 D
1 1 0 0 0 0 0 0 0 0
2 0 0.5 0.5 0 0 0 0 0 0 0
3 0 0 0.875| 0.125 0 0 0 0 0 0
4 0 0 0 0.891 |0.087  0.0217 | 0 0 0 0
5 0 0 0 | 0.0957 |0.819 | 0.0532 0.0319] 0 0 0
6 0 0 0 0.009 10.0811, 0.757 [0.11710.009 | 0.018 | 0.01
7 0 0 0 0 0.0222] 0.1333 | 0.511 | 0.244 | 0.022 | 0.07
8 0 0 0 0 0°74,0.0417 10.0417/0.542 1 0.167 | 0.21
9 0 0 0 0 0 0 102727 O 0.45 | 0.27

# 19 2004 &3 "Ll e 5 @ik eL (Z2=0.71346)

- E3nE
E 38 1 2 3 4 5 6 7 8 9

P
b
>

0.8599 | 0.0741 10.0227| 0.028 |0.0147| 0.0006 0.0001|5E-05| 0

0.0224 | 0.776 0.1331| 0.0263 |0.0393| 0.0021 0.0007| 7E-05| 0

0.0001 | 0.0555 0.715| 0.155 |0.0723] 0.0016 [0.0007 0 |2E-04

0.0001 | 0.0079 0.0495| 0.768 |0.1562| 0.0158 |0.0021/4E-04 | 6E-05
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Ry = 1+ (~0.04) *1.435 =0.942
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% 24 2000 & & % 53 A
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